4513407 B 128 (BER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2366 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 11,710
itiEE 10,435 6,330 4105 10 1,350 810 1,188 756
RS 1,255 855 400 15 1,134
130340 [7¥ICALCA a3 11,930
LS 4,000 0 4,000 10 1,512 864
EE 1,490 0 1,490 10 972 108
G 6,200 0 6,200 10 - - - 1,188 540
130400 [Z (S5 3 2,830
LS 1,400 0 1,400 10 - - - 1,566
BE 1,270 0 1,270 10 3,780 3,056
fE 60 0 60 10 1,004
130600 [NACA a3 532
32 532 2 530 ] 1, 620 1,728 540
131100 [A 3 a3 10,860
£ 10,860 4,605 6,255 15 972 648 1,696 648
131700 |Fv¥ Y #a 40,975
35 2,055 0 2,055 15 594 108
HE 18,600 9,600 9,000 10 756 691 216
£ 20,320 6,310 14,010 10 864 216 1,134 324
131800 | [F5NAE 3 1,923
£ 36 0 36 0.2 113
Ik B 1,476 7 1469 3.6 1,728 2,981 1,620
£E 344 344 of o2 151 113
®me 2 2 o[ o0.08 76
& [if] 45 0 45 45 2,700
131910 [FHE 3 2,199
N 61 3 59 05 302 702 292
EE 10 0 10| 05 270
il Ll 380 0 380 1 648 162
=l 873 15 858 5 1,350 2,700 324
iR 725 50 675 5 1,890 2,700 648
= 10 0 10| 05 108
131950 |4 % 3,285
EHY 970 427 543 3 1, 404 1,188 1,404 756
fE 75 0 75 3 864 702




4513407 B 128 (BER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 2366 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
133400 |[L AR % 34,020
IE54 34,020 16,780 17,240 10 1, 458 648 1,728 648
134100 | A/ ¥ 15,163
dtiEE 1,600 900 700 5 1,382 1,080 1,458 1,242
=25 955 655 300 5 1,274 1,069 1,372
EE 588 203 385 10 1,728 1,080 1,728 1,080
32 140 0 140 10 2,160 1,944
=l 2,405 415 1,990 5 1,188 486 1,512 378
IR 8,850 2,510 6,340 5 1, 404 432 1,620 486
134200 |E R a3 4,700
G 3,750 1,610 2,140 10 Z, 268 1,728 2,214 864
—1—U-5UK 450 20 430 10 1,296 1,134
A¥L O 500 0 500 10 1,296 1,242
134300 |#nF 3 9,985
KR 128 0 128 4 1,944 1,080
EE 423 380 43 5 1,242 432 1,080 756
=B 30 0 30 2 864
mE 4,100 425 3,675 5 1,512 1. 296 1,620 432
IR 2,568 40 2,528 04 108 108 65
=il 400 0 400 5 108
& 360 0 360 03 65
134400 [r<k a3 27,410
dtiEE 1,014 0 1,014 4 1,404 364
FE 100 0 100 05 227
3= 1,320 0 1,320 4 1,944 864
EE 17,213 886 16,327 [ 864 648 1,512 324
32 2,884 0 2,884 4 1,296 432
iR 744 0 744 4 1,620 972
& 495 0 495 4 972 648
e 3,600 516 3,084 4 1,404 486 1,404 540
134500 [E—< > % 16,818
EE 1,895 90 1,805 0.15 54 43
IR 500 0 500 0.15 54 43
=il 25 25 0 5 1,944
134700 [&5HACL ¥ 5,895
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4513407 B 128 (BER)

R RENFEHIS (A15) 2B B #H

B ENTHBE: 2366 b~
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
50 3,580 2,000 1,580 5 1, 555 118 1,739 756
EE 1,710 0 1,710 10 2,722 2,268
135100 [LNAVIF A ¥ 162
dtiEE 32 0 32 2 2,700 2,160
£ 80 0 80 ] - - - 2,052 1,728
®me 30 0 30 2 1,944 1,728
= 20 0 20 2 1,404
135500 [Z - = a3 418
Iz & 418 0 418 0.18 - - - 178 81
136100 [MAL & 3 21,585
32 1,665 130 1,535 5 2,376 1,728 2,376 432
=G 2,600 1,300 1,300 5 Z 268 1,836 2,376 1,080
136210 | A—9 4> % 5,400
EE 1,930 880 1,050 10 1, 404 486 1,512 1,404
G 3,470 0 3,470 10 1,458 1,145
136300 B ¥ 3 470
= % 140 10 130 5 2,970 2,970 540
BRE 230 100 130 1 540 648 108
fhE 100 0 100 10 1,728
136600 [f=F4a = 3 4,460
dtiEE 2,000 2,000 0 20 2,090
EE 2,460 2,160 300 10 1, 652 950 2,052 1,944
138100 | LLM=1F ¥ 2,255
EE 232 115 117 02 81 76 194 146
mE 1,350 47 1,303 0.1 119 173 18
138500 [LHLE “ 1,645
EH 1,628 328 1,300 0.2 49 21 52 27
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413407 A 128 (BAEA)

M P i RENFEH 5 (K 15) B8 B #

Rz EFciesE: 383
(EEIEHEBRFSO)
m m EHh 15T 3= (ke) R 2Y5E FHXTERS|
ENE] BYFE AExt Hike | &EMA) | $EE) | REME) | &EE) | EE) | RiEME)
240110 [/ \DRH&HHA R 1,334
BIE 990 775 215 5 6. 264 5. 184 7,020 3,780
242320 |33 —ILK B 3,330
55 3,330 600 2,730 10 3. 672 1, 836 3,996 1,944
242830 | 5LYAC B 4,030
55 4,030 1,440 2,590 10 3, 888 2.916 4,320 1,620
243120 |ZEKAL gk 520
35 520 520 0 5 Z. 808 Z.160
244200 [FAELE #E 5,715
IIET] 2,252 217 2,035 5 4,320 2,160 4,860 1,242
AT 3,439 1,327 2,080 [ 2.916 2.700 3,564 2,700
[ 4 0 4 4 4,536
244430 [E#h o5 R 168
=¥ 168 168 0 0.7 432
244530 [FE#dHE B 1,940
IIED] 1,275 18 1257] 1.5 Z. 700 2,700
fos 34 650 300 350 05 356 324 356 270
AT 15 0 15[ 03 324
245220 | TSDIT SHES BB 960
IIET] 120 92 28] 04 454 432 432
KR 840 150 690 0.3 328 313 324 216
245230 [BEIESES B 481
fos 34 7 0 71 035 702
& 402 335 67 0.3 481
L 147 8 139 Z 3,780 4,320 2,160
247100 |[7—)L A AOY [2% 838
B4 323 145 179 8.5 11, 880 4,752 16,200 9,720
50 200 0 200 8 4,860 1,944
(=] 315 196 119] 85 4,320 2,484 4,104 2,808
248300 [FEH S Ly R 18,743
alll 11,430 8,224 3,190 16 4, 860 1,944 4,644 2,700
50 3,285 855 2,415 15 4,536 2,268 4,644 1,728
=5 65 65 0 13 5,940
e 876 0 876 15 3,240
BERE 672 672 0 16 4,536 1,944




SF34E07 A 12H (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 12.8 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 346 117 229 Kg | 1,296 324 | f )i 1,620 324
102 |[ZHEIZW 2,173 2,173 Kg g 2,916 315
111 [ ED 814 4 810 Kg |&fE 648 S R 1,296 198
113 [RZROHD 240 55 185 Kg [E=k 1,728 648 | e & 2,484 432
114 |5 -H 113 113 Kg HEE[E] 2,376 1,944
115 [z 215 117 98 Kg |&fE 1,296 540 | fe i 3,024 216
117 [13n 1,167 202 965 Kg |&fE 1,404 378| )i 3,622 108
121 [7bixE 31 31 Kg | 594 486
134 [7=Z 559 432 127 Kg | 1,404 7561 1,512 864
140 |DIT 7 7 Kg frJE 75,600 10,800
147 [HEx O 106 3 103 Kg |&fE 5,400 4,644 8- BE 7,020 3,500
158 | A LD 567 567 Kg JE IR 1,404 540
201 |Vl 647 647 Kg B T 351 200
205 [AHL 96 96 Kg F5EL 675 621
206 |=iE 300 300 Kg = 762 438
207 |SAE 8 8 Kg AbyiE 899 594
208 [0k 635 635 Kg ] 1,404 216
209 [T Do 25 25 Kg Al 1,080 972
210 [\FAv e 246 236 10 Kg [&EIF 4,860 1,701t F 827
212 [#HES 139 139 Kg PSS 1,890 650
222 |[OBZ 348 348 Kg B 216 126
251 [KAXSA 966 257 709 Kg [SHL 2,074 1,674 | %% 5,994 2,430
252 [WAEESA 116 116 Kg |mi57 2,624 1,512
254 [EDIEFESAH 503 503 Kg FE T 1,512 648
303 |[NAZIEW 30 30 Kg Lo 720
305 |[Fenok 20 20 Kg I 3,240 2,484
306 [WEXD 10 10 Kg KRy 972 804
314 [13n 800 800 Kg frJE 1,500 400
315 [7=698 70 60 10 Kg [E=k 1,620 648 = % 821
319 [=b5 628 224 404 Kg [|&HW 324 &It — 1,188 352
332 | EA BPE 232 232 Kg E|RES 1,512 1,404
351 [AEH 10 10 Kg K 13,824 12,420
354  [1ZFEH 8 8 Kg ] 756
355 [HV 205 205 Kg REAN « T [it] 1,188 500
356 [LUA 115 115 Kg F5EL 1,080 972
357 |RHE 7 7 Kg HEE[E] 1,512 1,350
358 [KH 20 10 10 Kg [ZHm 1,188 ] 2,160
401 [Hwp 172 172 Kg S 1,242 864




[ 402 AE 75] 75 Kg | |3 | 4,537] | 3,348]
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PO T FR YL ISR T (AN Y) B H
SF3EE07 A 120 (HWER)

1k HPERE: 02 b G 2 B 2 )
04, EN7EH (kg P wh5E FEXFELS |
a—K pi AH wY5E FEXFELS | PEH EAEFD | FP ()] Z2fiE () _ PEH rfE () #1115(?1)4 ZEAE(M)

|

507 |[2—u s 20 20| Keg j;; s
512 [TaikA 22 22| Ke 555 1,860 900
523 | BT 2O 110 110 Kg — s =51
558 |FRfa 30 30 Kg




SF34E07 A 12H (HHER)

F A R RS T S (AE5) BHE H

T EIbng e = 7.6 %
(S I E B B )
0 EN7EH (kg wh5E ERSENE]
i i e i Ty — _ - Ty -
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)

701 |[BVDHA 4,852 4,315 537 Kg | 2,060 1,026 f= & 1,080 648
705 [7=3<D 54 54 Kg L 1,566

710 |95 HIF 42 42 Kg Koy 702 567
751 |E i 10 10 Kg R 1,485

755  [BEHL 43 43 Kg B[Sz 748 699
756 |BAMET 11 11 Kg R 853

761 |BUHASEE 294 294 Kg LS - Frsik (L 1,548 870
768 |&E7-Z 20 20  Kg )7 1,960

801 [HEfALEIF 244 244 Kg E|RES 2,160 788
805 |HE=iE 1,444 40 1,404 Kg [|JbFE 475 B|&ES 783 288
810 |BA KT 576 576 Kg B|&ES 2,430 1,026




